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ich of the following are not users of accounting information?

pvestors
ax inspectors

c areholders
Carpenters
2 Whi concept emphasises the value of what is recorded?
A

Cansis

B Matehialit
C Accruals
D Matchin
3 The principle which t a limited liability company has a separate legal status is +.

A business entit

B accruals.
C money measurement.
D prudence.

4  The order of liquidity in which cyts& should be shown in the balance sheet is

as follows e«

A Stock, debtors, bank, cash.

B Cash, bank, debtors, stock.

C Debtors, stock, bank, cash. ‘
D Stock, debtors, cash, bank. /

5  Which of the following statement is not corre

Assets — Liabilities = Capital

Liabilities + Capital = Assets
Assels - Capital = Liabilities
‘D Liabilities + Assets = Capital
" & A sole trader or a partnership would have capital acc . A non-profit making
\ ¢

QW P>

organisation would instead have «.. '

A net assets.

B an accumulated fund.
C working capital.

D capital employed.

7 The number which indicates where the corresponding entry is foun nas e»

A column number.
B folio number,

C batch number.
D patent number.

Principles of Accounts/7110/1/22011
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oli
narration.

9 ' e {aken for use by the proprietor, the posting to the ledgerisee.

A sto " purchases.

19 The principle boo nts where all transactions are recorded is calied «--

A an account.

B aledger.:
C ajournal.
D & prime book.
&:ount?

41 Which one of the following is a nomji

A Rent paid
E Creditors
¢ Debtors ‘

D Assets
- 12 When trial balance totals agree, it me
A hook-keeper is inaccurate.
B business is making profit.
C book-keeper knows double-entry.

D double entry in the Ledger Accounts was co

13 Which of the following is not recorded on the credit side ¢ Trial Balance?

A Sales Returns
B Purchases Returns Y
C Rent Received

D Discount Received

14 The total of Sales Returns Journal is posted {o the

A credit side of Sales Returns Account.

B credit side of Sales Ledger.

C Purchases Leger.

D debit side of Purchases Returns Account. -

Principles of Accounis/7110/1/22011 [Turn over
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17

18

19

20

‘Purchases K8 500 000;
~« Carriage outwards K2 3004000;

“Purchases returns K500

ebit Note received from a supplier for an undercharge, s«

creases the value of goods sold.

eases the value for the goods purchased.
ited to the Bank Account.

ited to the Bank Account.

To e does Leasehold property belong?
A
B
o
D
he following figures

Opening stock K4 200 0
The gross profit amountis e..

A K4 800 000.

B K8 300 000..

C K5 200 000. ‘

D K7 000 000.

If a provision for debreoiatien account en the entries for the year’s

depreciation would be -..

A credit profit and loss account; debit provis depreciation account.

B debit asset account, credit profit and loss acco
C credit asset account, debit provision for de
D credit provision for depreciation account, debit profit

When a fixed asset can no longer be used or deprec
obsolete state, it is generally referred to as having a «» ‘o

A nominal value.
B scrap value.

C book value.

D market value.

A debit balance brought down on a Rates Account means we o«

A are owing by the rates account.

have paid rates account in advance.

have paid the amount for the rates account.
have paid tco much for the rates account.

CoO®

Principles of Accounts/7110/1/22011
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omission of a Rent Receivable owing figure from the Profit and Loss Account will <«

mgrease the net profit for the business.
reduce the net profit for the business.

C reage the gross profit for the business.

D@he gross profit for the business. |

Ad previously written off has finally been paid off by cheque. How will this
ocks of accounts?

be trea i
A Crs e'banka@account, and debit bad debts account.

B Creditba covered accounts and debit bad debis account.

C  Debit theWbank accolnt and credit bad debts recovered account.

D Debit bad debts ed account and credit bank account.

A debtor pays K26Q 00 iving 5 per cent cash discount. How much did he pay?
A K247 000 ‘

B  Ki13000

C K273000

D K507 000 | $
if the purchase of stationery waw twice in the account, we reverse this by »..

A debiting stationery account.
B crediting stationery account. ‘
€ crediting suspense account. ,

D debiting suspense account.

If the trial balance totals do not agree, the diffef®rice
A the profit and loss account.

B asuspense account.
€ anominal account.
D the capital account.

ist be entered in ees

A Bank Reconciliation Statement is a statement »e.

A sent by the bank when the account is overdrawn.

B drawn up by us to verify our cash book balance.

C drawn up by the bank to verify the cash bock balance.
D sent by the bank when we have made an error.

Errors corrected using the suspense account are the ones that «..

A prevent the trial balance from balancing.
B are not exposed by the trial balance.

G affect the balance shest.

D are cmilted in the ledger.

Principles of Accounts/7110/1/22011 [Turn over
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30

31

32

33

for the interest on drawings in the partnership accountis se.

A fithe intezest on drawings account and debit the current accounts for the
partnershi
credit the'Current aCcount of partners and debit the interest on drawings account.

1

C debit the profit appropriation account and credit the partners current
account. '

D debit the partn@rs cUent@ccount and credit the profit and loss appropriation
account.

The sum of prime cost plugithe indirect manufacturing costs is the «.»
A direct cost.

B production cost.

C overhead expenses. /
D direct materials.
The cost of manufacturing goods isGapsferre ‘

A the profit and loss account.
B the trading account.
C the balance sheet.
0 no where. '
The minimum number of partners in a partnership ig
A 7.
B 2
c 20
2

D 5
A company’s authorized capital is <.

A the amount of share capital it has issued and fully paid fo
B the total amount of share capital it is authorized to issue.

C the maximum amount of loan capital and share capital stipula
articles of association.

D capital which can be used in emergencies only.

Principles of Accounts/7110/1/22011



36

37

38

39

40

Page 7 of 7

rent expense is best allocated on the basis of «..

In which ledger w ebtors control account be kept?

A Sales ledger

B General ledge
C Nominal ledger
D Purchases ledger

Expenditure which is not spenw&g value of fixed assets, but on running the

business on day-to-day basis i as ess

A capital expenditure,

B revenue expenditure. ‘
C interest paid.

D revenue receipt. : /
The creditors balances at the beginning of th

goods worth K735 000 were purchased and @
What was the creditors closing balance?

A K1 083 000 credit
B K262 500 debit®

C K1 128 500 debit
D K262 500 credit »

««« i3 @ summary of the cash book for the period.

was K328 000; during the month
amounting to K800 500 were paid.

A income and expenditure account
B Profit and loss account

C Balance sheet

D Receipts and payments account

A club’s income and expenditure statement is similarto «s.
A profit and loss account.
appropriation account.

cash book.
balance sheet.

Oo0Om
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